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ML.A. (First Year) (I-Semester)
Exam_lqntlon, 2018-19

ECQNOMICS
[Paper-T]

[PPU-M-IECO)-CC-1]

Time : Three Hours)

_ [Max!mum Marks: 70|

Note :Part-A consistg of ten Objective type questions
carrying 2 mark'g aaqh. Part-B consisis fiva Shuﬁ
answer type questjons. Part-C consists four Long
answer type quastipns. ' :
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1. Altempt all parts |
it et AT
()  Lawofdemand rgveals that:
(a)  Substitition effectis always positive
‘_,(b) S;.Jbsfitutjan effect is always negative

(&) Substitution effect may be both positive -
and negative

(d)  Noneofthe above
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(i)  Which Economlst doas not accept the concept
of Giffen goods |
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(@)  J.R,Hicks
(b)  R.GP.Allen
()  PA,8amuelson

(d)  Allofthe above
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(iii)  For Cobb-Dpuglous production function, which
isture: T
(a) For lhcreasipg Returns to scale
a+f3>1 -
(b) For decresing Returns to scale
a+ <
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(c)  Forconstartreturnsto scale ¢+ f =1

Ad) Al of tha above
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(c) ?rﬂr!%.% f@q‘tnﬁlﬁi%%ﬂ a+p=1
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(iv)  Economic obpdrtdnlty costincludes :

_(ar  Explicit Costonly

(b)  Implicit Costonly

(c. Both(a)and (b)

(d)  Noneoftheabove
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(c)
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In perfect competition, in long run price is equal
to:

(a) Marginal Cost
(b)  Average Cost

\)9)/ Minimum Average Cost

(d)  Total Cost
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Leamer's Iﬁdax of Monopoly paweris :
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For a single monopoly price 15, price elasticity
of demand In markets A and B is 2 and 5
respectively. Marglnal Revenue for both
markets respectively will be -

A9 7.5and12Rs.

(b) 5and2Rs,
(€)  7.5and3Rs,
(d) 30and 75 Rs.
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(viiy Which is the condition for the equilibrium of
competitive Industry in the Long Run:

& A of sRAM IAT & T @ o
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e Qd =Qs and P=LMC =LAC
(by Qd=QsandP= LMC = Max LAC
(c) Qd=QsandP =LMC =MinLAC
(d) ~ Qd=QsandP=MaxLMC=LAC
(ix) InCournotduopoly Model, Which is true :

‘):Laa"_ Products are Homogenous

{b)  Costof Productionis Zero

\/Lc)/ Both (a)and (b)

L . (d)  Noneofthe above
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In Low Cost Price leadership, for two firms A |
and B, when A s a lower cost firm which is not

true: htps://www. ppuponline.com
(a)  Produces and sells more

(b) Produces and sel!s'equals toB

(o) Eams Profit more than B

(d)  Firm B is forced to accept the price
decided by A |
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PART-B/ 91 - §
(Short Answer Type Questions)

(7g Smlm ue)

What is Consumer Surplus ? Explain its Hicksian
Approach.

wﬂwa%aaﬁw%?ga%i%ﬁmﬁwzﬁr
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' #5:_# Discuss the law of variable proportions.
gREdweia srart & Fam # Rdee it
‘i# Describe the Long Run equilibrium in Monopoly.
| R § S g @ e PR
5. Explain the price output determination under price
leadership by dominant firm.
PI;U'M-IL’ECO}-CC-IQZU (9) [P.T.O.|

https://www.ppuponline.com

mﬁﬁmmﬁqﬁ%mﬁquﬂr
% PR & g

Describe the equilibrium of Industry in Competitive
Market.

SRAEMT SR A SE & HgEe # qu i
PART-C/ 9FT - §
(Long Answer Type Questions)
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Price effect is a sum of substitution effect and income
effect. Discuss it with Hicksian approach.

I T SR ST U O SN 6 9 21 Rew
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Discuss the Short Run and Long Run equilibrium of a
firmin perfect competition.

gﬁmﬁmﬂ?{ﬁaﬁr % EH & SRR O e
= A R Bt

What is price discrimination ? How price and output
of different firms are determined ? Explain,
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,151_} Discuss the features of Cobb-Douglous production
function.
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